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1) (x+2)x—4)=x2+{2+(—
=x?—2x—8

Dlx+2-(—4)

2) (x+1)2=x2+2-x.1+12:x2+2x+1
B) (x+3)(x—3)=x2—32=2x2—9
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(1) ab—3ac=a(b—3c)

2) x2+4x+3=22+(1+3)x+1-3=
(x+2)x—
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REL6, KB 2
REL, k1
I —1, JE4
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(1) fRE 2a, KE3
2) FRE3bc3, XRE2
3) fR¥ —6a, XE3

(1) 4x243x—1—2x2—4x+6
=(4—-2)x24+(3—4)x+(
=2x2—x4+5

2) 3a*—2ab—4b%—
=(3—5)a’+(
=—2a%—12b2

—2+2)ab+(—

3x=8+4
3x=12
x=4
x—2x=3+6
—x=9
x=-9
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5a%+2ab—8b2
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1) 3K
2) 4RxK
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1) 3=, EEIEby +c
2) 2=, EFIEax’+c
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1) (a+2)x+(4a®—3a)
2) 2*+@By—1x+(2y*—3y—2)
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1) A+B=(2x*+3x—1)+(4x*—5x—6)
=244)x*>+(3—-5x+(—1-06)
=6x2—-2x—7

A—B=(2x2+3x—1)—(4x2—5x—06)

=2x24+3x—1—4x%4+5x+6
=(2—4)x2®+(34+5)x+(—1+6)
=—2x2+8x+5

2) A+B=(4x*—3x2—2x+5)+(22°—3x2+7)
=(4+2)2°+(=3-3)x2—2x+(5+7)
=6x°—622—2x+12

A—B=(4x3—3x%2—2x+5)—(24°—3x%247)

=4x3—3x2—2x+5—2x%43x%2—7
=(4—-2)x°+(=3+3)x2—2x+(5—7)
=2x%—2x—2
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(1) A+2B=(x24+4x—-3)+2(242—x+4)
=x2+4x—3+4x%—2x+8
=(1+4)x*+(4—2)x+(—3+38)
=5x24+2x+5

(2) 2A—3B=2(x2+4x—3)—3(242—x+4)

=2x%4+8x—6—6x24+3x—12

=(2—6)x2+(8+3)x+(—6—12)
=—4x2411x—18
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1) 2a X4a?=(2X4)X a’+?=8a"
2) X(—=3a)=—-3%xa**'=—-3a°
3) 4czb2><b4 4Xaxb®t=4ab®
@) 3x%yx(—2x%y%)=3X(=2)X 223X y!+2=
5) (—a®?¥? ( ) X (a?)?x(b%)2=a'p®
6) (—3x%y)*= X (22X y¥=—27x5y°
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(1) 4x (2x —3x+5)
=4x%X 222 4+4x2 X (—3x)+4x% X5

=8x*—12x%4 20x2

—6x°y°



